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1. REERARNEOHE

RHERAEFEL, LNGELPGORM AT (B S#fEHE) DEBITHL T,
. REHSEMO mMbHY DM #=HBTIHETT,

- BAET R (83,350, . ) EFHRAHEE (3~54 ARTD3 ARDLNGELPGOE Affitk) DZZE100M 12DF,
1m&7-Y 0.081H (Fitk) AELET,

2. FHMLEARERAZE GIM/B)DSREDH AHE (20205F 12 A K8t %)

(M FHREAEROETE
<LNGF % A fifidk > <LPGTF 8 Afifit >
34,360 (/") X 09576 + 39,480 (/%) X 0.0466 = 34,742.904 (F/*.)
= 34740 (A/".) XIOMREEEEEA

(2) TR A £ E 2 T 15 [RRHEAE £ D 258 (RAHEE EENEE) DFEE

< EAEFHRFMEE > <EHRFHEE >
83,350 (H/%.) - 34,740 (/%) = 48,610 (/")
= 48,600 (H/".) 100K FHEYIET

(B REMEHMARENEE

< RIS EEE > <HBRE>
48,600 (/") X 0.081 (A/m) - 100 (H/*.) X (1 4+ 010) = 433026 (A/m)
= 4331 (H/m) NN R EIM LT EY LI

(4) Rt ERE R (FRA) OEE (—RARBIGHR HERBDBE)

<EHEHAHE> <fEEH S HifzEEE>
169.03 (A/m) — 4331 (A/m)

125.72 (/m)

(& %) 2020511 AR D OREHSHEMED LLE
<2020F 12 A DIEEHEHE > <2020 11 B D= S HE >

125.72 (M/m) - 130.36 (F1/m) A464 (F/m)

(5) H A% & (202012 A #8457, FisA)

<EXpE> <fERP L B> <AREAE>
1,588.88 (M/A) + 12572 (A/m) x 31(m/8) = 5,486.20 (M/8)
= 5486 (M/A) MIARGEELIET
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